American Journal of Engineering Research (AJER)	2019
American Journal of Engineering Res	earch (AJER)
E-ISSN: 2320-0847 p-ISS	SN: 2320-0936
Volume-8, Iss	ue-3, pp-69-78
	www.ajer.org
Research Paper	Open Access

# Bipolar Fuzzy Translation, Extention, and Multiplication on Bipolar Anti Fuzzy Ideals of K-algebras

Ria Anggraeni<sup>1</sup>

Master Mathematics Study Programs, Faculty of Science, Brawijaya University Malang, Indonesia

**ABSTRACT** : A mapping whose real number interval [0,1] on the codomain is called a fuzzy set. Fuzzy theory is widely applied in algebraic structures. A bipolar fuzzy theory is developed from fuzzy theory which is mapping to real number interval[-1,1]. Bipolar fuzzy set is a pair of two fuzzy sets, called membership function and non-membership functions, respectively represented by positive and negative value. As well as fuzzy theory, bipolar fuzzy also applied in several algebraic structures, one of which is k-algebra. An algebraic structure which is built from group G and fulfilling several axioms is called k-algebra. Bipolar anti fuzzy is developed from the bipolar fuzzy theory. In this paper, we introduces the notion of a bipolar fuzzy translation, bipolar fuzzy extention, and bipolar fuzzy multiplication on bipolar anti fuzzy ideals of k-algebra.

KEYWORDS Bipolar anti fuzzy, K-algebras, ideals of K-algebra, bipolar fuzzy translation.

Date of Submission: 20-02-2019

Date of acceptance: 08-03-2019

#### I. INTRODUCTION

A fuzzy set firstly introduced by Zadeh in 1965 was widely applied to various sciences, including algebra. In 1994 Zhang was introduced the concept of bipolar fuzzy set which is developed from fuzzy sets. A bipolar fuzzy is a pair of two fuzzy sets called membership function and non-membership functions, respectively represented by positive and negative values. Bipolar fuzzy sets are also applied to algebra, one of which is K-algebra.

K-algebra is a kind of an algebraic structure which is built by groups (G,\*,e) with binary operations  $(\bigcirc)$  and fulfilling the certain axioms and it is denoted by  $\mathcal{K} = (G,*,\bigcirc,e)$ . This concept was discussed firstly by Akram and Dar in 2005, in their paper entitled On a K-algebra Built on a Group. The discussion was continued in 2007 where Akram and Dar wrote about homomorphismin K-algebra and fuzzyideals of K-algebra. Along with the development of fuzzy set theory, in 2008 Akram discussed the bifuzzy ideal of K-algebra. Not only fuzzy theory, but also bipolar fuzzy is applied to K-algebra. In2009 Jun et al., discussed about bipolar fuzzy translation in BCK/BCI-algebras and Akram discussed the application of bipolar fuzzy in K-algebra in his article entitled Bipolar Fuzzy K-algebras in 2010.

In this paper, we introduces the notion of bipolar fuzzy translation, bipolar fuzzy extention, and bipolar fuzzy multiplication on bipolar anti fuzzy ideals of K-algebras.

#### **II. PRELIMINARIES**

In this section we will discuss some basic theories about bipolar fuzzy translation, bipolar fuzzy extention, and bipolar fuzzy multiplication on bipolar anti fuzzy ideal of K-algebra.

#### Definition 2.1 (Akram and Dar, 2005)

Let (G,\*) is a group with an order more than 2. Define a binary operation on G as follow  $\odot$ : G × G → G

 $\odot$  (x, y) = x  $\odot$  y = x \* y<sup>-1</sup>

If the following axioms are hold by G:

i. 
$$(x \odot y) \odot (x \odot z) = (x \odot ((e \odot z) \odot (e \odot y))) \odot x$$

ii.  $x \odot (x \odot y) = (x \odot (e \odot y)) \odot x$ 

iii.  $x \odot x = e$ 

- iv.  $x \odot e = x$
- v.  $e \odot x = x^{-1}$  for every  $x, y, z \in G$

www.ajer.org

then G is called K-algebra which is built by group (G,\*) and we denoted by  $\mathcal{K} = (G,*,\odot,e)$ . If (G,\*,e) is an abelian group, then axiom i and ii replace with i\*.  $(x \odot y) \odot (x \odot z) = z \odot y$ , ii\*.  $x \odot (x \odot y) = y$ For every x, y, z  $\in$  G.

#### Definition 2.2 (Akram and Dar, 2007)

Let  $\mathcal{K} = (G, *, \bigcirc, e)$  is a K-algebra. A non empty set H in K-agebra  $\mathcal{K}$  is called K-subalgebra if  $e \in H$  and  $h_1 \bigcirc h_2 \in H$ , for every  $h_1, h_2 \in H$ .

#### Definition 2.3 (Akram and Dar, 2007)

Let I is a non empty set in K-algebra  $\mathcal{K} = (G, *, \odot, e)$ . A set I is called ideal of  $\mathcal{K}$  if the following condition satisfied for every  $x, y \in G$ .

i. e∈I

ii.  $x \odot y \in I, y \odot (y \odot x) \in I \Rightarrow x \in I$ 

#### Definition 2.4 (Kandasamy, 2003)

Let X is a non empty set and  $\mu_{A}$  is a mapping

$$\mu_{\Delta}: \mathbf{X} \to [0,1]$$

with [0,1] is a real number interval from 0 to 1. A set A defined by

$$\mathbf{A} = \left\{ \left( \mathbf{x}, \boldsymbol{\mu}_{\mathbf{A}}(\mathbf{x}) \right) \middle| \mathbf{x} \in \mathbf{X} \right\}$$

is called fuzzy set of Ain X.  $\mu_A(x)$  is called membership function for fuzzy set A.

## Definition 2.5 (Akram and dar, 2007)

Let  $\mathcal{K} = (G, *, \odot, e)$  is a K-algebra. A fuzzy set A of  $\mathcal{K}$  is called fuzzy ideal of  $\mathcal{K}$  if it satisfies:

i.  $\mu_A(e) \ge \mu_A(x)$ , for every  $x \in G$  and

ii.  $\mu_A(x) \ge \min\{\mu_A(x \odot y), \mu_A(y \odot (y \odot x))\}$ , for every  $x, y \in G$ .

#### Definition 2.6 (Zhang, 1998)

Let *X* is a non empty set and  $\lambda_B^+$  and  $\lambda_B^-$  is a mapping  $\lambda_B^+: X \to [0,1]$  and  $\lambda_B^-: X \to [-1,0]$ 

with [0,1] is a real number interval from 0 to 1 dan [-1,0] is a real number interval from -1 to 0. A set *B* defined by

$$B = \{ x, (\lambda_B^+(x), \lambda_B^-(x)) | x \in X \}$$

is called bipolar fuzzy set Bof X.  $\lambda_B^+(x)$  is called membership function for fuzzy set Adan  $\lambda_B^-(x)$  is called nonmembership function for fuzzy set A. Furthermore, bipolar fuzzy set written as  $B = (\mu^+, \mu^-)$ .

#### Definition 2.7 (Akram et al, 2010)

Let  $\mathcal{K} = (G, *, \odot, e)$  is a *K*-algebra. Bipolar fuzzy set  $B = (\mu^+, \mu^-)$  in  $\mathcal{K}$  is called bipolar fuzzy subalgebra if it satisfies for every  $x, y \in G$ . i.  $\mu^+(x \odot y) \ge min\{\mu^+(x), \mu^+(y)\}$ 

ii.  $\mu^{-}(x \odot y) \leq max\{\mu^{+}(x), \mu^{+}(y)\}$ 

#### Definition 2.8 (Ria et al, 2018)

Let  $B = (\lambda^+, \lambda^-)$  is a bipolar fuzzy set of *K*-algebra  $\mathcal{K}$  and  $t' = (t^+, t^-) \in (0,1] \times [-1,0)$ , for every  $x \in \mathcal{K}$ i.  $B(x) \ge t' \Leftrightarrow (\lambda^+(x), \lambda^-(x)) \ge (t^+, t^-) \Leftrightarrow \lambda^+(x) \ge t^+$  and  $\lambda^-(x) \le t^$ ii.  $B(x) \le t' \Leftrightarrow (\lambda^+(x), \lambda^-(x)) \le (t^+, t^-) \Leftrightarrow \lambda^+(x) \le t^+$  and  $\lambda^-(x) \ge t^-$ 

### **Definition 2.9 (Ria et al, 2018)**

Let  $B = (\lambda^+, \lambda^-)$  is a bipolar fuzzy set of *K*-algebra  $\mathcal{K}$  with

 $\lambda^{+}(z) = \begin{cases} t^{+} &, z = x \\ 0 &, z \neq x \\ \lambda^{-}(z) = \begin{cases} t^{-} &, z = x \\ 0 &, z \neq x \end{cases}$ 

Then *B* is called a bipolar value fuzzy point where  $t' = (t^+, t^-) \in (0,1] \times [-1,0)$  and support *x*, written as  $x_{t'} = (x_t^+, x_t^-)$ .  $x_{t'}$  is said to belong to *B*, written as  $x_{t'} \in B$  if  $B(x) \ge t'$ , so  $\lambda^+(x) \ge t^+, \lambda^-(x) \le t^-$ .  $x_{t'}$  is said not to belong to *B*, written as  $x_{t'} \in B$  if  $B(x) \le t'$ , so  $\lambda^+(x) \ge t^-$ .

## Definition 2.10 (Ria et al, 2018)

Let  $B_1 = (\lambda^+, \lambda^-)$ ,  $B_2 = (\mu^+, \mu^-)$  are bipolar fuzzy sets of  $\mathcal{K}$ ,  $max\{B_1, B_2\}$  is defined as  $(max\{\lambda^+, \mu^+\}, min\{\lambda^-, \mu^-\})$  $min\{B_1, B_2\}$  is defined as  $(min\{\lambda^+, \mu^+\}, max\{\lambda^-, \mu^-\})$ 

## Definition 2.11 (Ria et al, 2018)

A bipolar fuzzy set  $B = (\lambda^+, \lambda^-)$  is called a bipolar fuzzy ideal of  $\mathcal{K}$  if following condition hold.

- i.  $\lambda^+(e) \ge \lambda^+(x)$  and  $\lambda^-(e) \le \lambda^-(x)$
- ii.  $\lambda^+(x) \ge \min\{\lambda^+(x \odot y), \lambda^+(y \odot (y \odot x))\}$  and  $\lambda^-(x) \le \max\{\lambda^-(x \odot y), \lambda^-(y \odot (y \odot x))\}$

### Definition 2.12 (Ria et al, 2018)

Suppose I is a non empty subset in K-algebra  $\mathcal{K}$ . Bipolar fuzzy set  $C_{I^c} = (C_{I^c}^+, C_{I^c}^-)$  defined by

$$C_{I^{c}}^{+}(x) = \begin{cases} 0 & , & x \in I \\ 1 & , & x \in I \end{cases}$$
$$C_{I^{c}}^{-}(x) = \begin{cases} 0 & , & x \in I \\ -1 & , & x \in I \end{cases}$$

is called bipolar-valued anti characteristic function.

#### Definition 2.13 (Ria et al, 2018)

Let  $\mathcal{K} = (G, *, \odot, e)$  is a *K*-algebra. Bipolar fuzzy set  $B = (\lambda^+, \lambda^-)$  is said a bipolar anti fuzzy ideal of  $\mathcal{K}$  if the following conditions hold.

i.  $x_{t'} \in B \Rightarrow e_{t'} \in B$ 

ii.  $(x \odot y)_{t'} \in B, (y \odot (y \odot x))_{t'} \in B \Rightarrow x_{max\{t',t'\}} \in B$ 

Furthermore, bipolar anti fuzzy ideal is abriviated by BAF ideal.

#### Theorem 2.14 (Ria et al, 2018)

If *B* is a bipolar fuzzy set in *K*-algebra  $\mathcal{K}$ , then axioms in Definition 3.7 are equivalent to the following axioms respectively.

a.  $\lambda^+(e) \le \lambda^+(x)$  and  $\lambda^-(e) \ge \lambda^-(x)$ 

**b.**  $\lambda^+(x) \le \max\{\lambda^+(x \odot y), \lambda^+(y \odot (y \odot x))\}\$  and  $\lambda^-(x) \ge \min\{\lambda^-(x \odot y), \lambda^-(y \odot (y \odot x))\}\$ 

## **III. MAIN RESULT**

In this section, we discusses about the notion and the properties of bipolar fuzzy translation, bipolar fuzzy extention, and bipolar fuzzy multiplication on bipolar anti fuzzy ideals of K-algebra. For every bipolar fuzzy sets  $B = (\lambda^+, \lambda^-)$  of K-algebra  $\mathcal{K}$ , we denote  $u = 1 - sup\{\lambda^+(x) | x \in \mathcal{K}\}$  dan  $i = -1 - inf\{\lambda^-(x) | x \in \mathcal{K}\}$ .

#### **Definition 3.1 (Bipolar Fuzzy Translation)**

Let  $B = (\lambda^+, \lambda^-)$  is a bipolar fuzzy set of *K*-algebra  $\mathcal{K}$  and  $(\gamma, \delta) \in [0, u] \times [i, 0]$ . Bipolar fuzzy set  $B_{(\gamma, \delta)}^T = (\lambda_{(\gamma, T)}^+, \lambda_{(\delta, T)}^-)$  is called bipolar fuzzy  $(\gamma, \delta)$ -translation of *B*, where

$$\begin{split} \lambda^+_{(\gamma,T)} &: \mathcal{K} \to [0,1], x \to \lambda^+(x) + \gamma \\ \lambda^-_{(\delta,T)} &: \mathcal{K} \to [-1,0], x \to \lambda^-(x) + \delta \end{split}$$

#### Theorem 3.2

If  $B = (\lambda^+, \lambda^-)$  is a BAF ideal pada *K*-algebra  $\mathcal{K}$ , then bipolar fuzzy  $(\gamma, \delta)$ -translation of *B* is a BAF ideal of  $\mathcal{K}$  for every $(\gamma, \delta) \in [0, u] \times [i, 0]$ .

Proof:

i. *B* is a BAF ideal of  $\mathcal{K}$ , for every  $x \in \mathcal{K}$  obtain  $\lambda^+(e) \leq \lambda^+(x)$  and  $\lambda^-(e) \geq \lambda^-(x)$ . Because of  $\gamma \in [0, u]$  and  $u = 1 - \sup\{\lambda^+(x) | x \in \mathcal{K}\}$  then  $\lambda^+(e) + \gamma \leq \lambda^+(x) + \gamma$ Because of  $\delta \in [i, 0]$  and  $i = -1 - \inf\{\lambda^-(x) | x \in \mathcal{K}\}$  then  $\lambda^-(e) + \delta \geq \lambda^-(x) + \delta$ ii.  $\lambda^+(x) \leq \max\{\lambda^+(x \odot y), \lambda^+(y \odot (y \odot x))\}$   $\lambda^+(x) + \gamma \leq \max\{\lambda^+(x \odot y), \lambda^+(y \odot (y \odot x))\} + \gamma$   $\lambda^+(x) + \gamma \leq \max\{\lambda^+(x \odot y) + \gamma, \lambda^+(y \odot (y \odot x))\} + \gamma\}$ and

 $\lambda^{-}(x) \ge \min\{\lambda^{-}(x \odot y), \lambda^{-}(y \odot (y \odot x))\} \\ \lambda^{-}(x) + \delta \ge \min\{\lambda^{-}(x \odot y), \lambda^{-}(y \odot (y \odot x))\} + \delta$ 

www.ajer.org

$$\lambda^{-}(x) + \delta \ge \min\{\lambda^{-}(x \odot y) + \delta, \lambda^{-}(y \odot (y \odot x)) + \delta\}$$

Bipolar fuzzy ( $\gamma$ ,  $\delta$ )-translation of *B* is a BAF ideal of  $\mathcal{K}$ .

### Example 3.3

Let  $G = \{e, a, b, x, y, z\}$  and binary operation  $\circ$  in G is defined in Table 1

Table 1: Binary Operation • in G								
0	е	а	b	x	у	Ζ		
е	е	а	b	x	у	Ζ		
а	а	b	е	Ζ	x	у		
b	b	е	а	у	Ζ	x		
x	x	у	Ζ	е	а	b		
у	у	Ζ	x	b	е	а		
Ζ	Ζ	x	у	а	b	е		

We can prove that  $(G, \circ)$  is a group and  $\mathcal{K} = (G, \circ, \odot, e)$  is a *K*-algebra. We define a bipolar fuzzy set  $B = (\lambda^+, \lambda^-)$  as follows,

 $\lambda^{+}(x) = \begin{cases} 0.03 & , \ x = e \\ 0.4 & , \ x \neq e \end{cases} \text{ and } \lambda^{-}(x) = \begin{cases} -0.2 & , \ x = e \\ -0.35 & , \ x \neq e \end{cases}$  *B* is a BAF ideal of *K*-algebra *K*.  $u = 1 - \sup\{\lambda^{+}(x)|x \in \mathcal{K}\} \qquad i = -1 - \inf\{\lambda^{-}(x)|x \in \mathcal{K}\} \\ = 1 - \sup\{0.03, 0.4\} \qquad = -1 - \inf\{-0.2, -0.35\} \\ = 1 - 0.4 = 0.6 \qquad = -1 - (-0.35) = -0.65 \end{cases}$ If  $\gamma = 0.5$  and  $\delta = -0.3$ , then  $B_{(\chi,\delta)}^{T}$  BAF ideal of *K*.

### Theorem 3.4

Let  $B = (\lambda^+, \lambda^-)$  is a bipolar fuzzy set of  $\mathcal{K}$ . If bipolar fuzzy $(\gamma, \delta)$ -translation  $B_{(\gamma,\delta)}^T = (\lambda_{(\gamma,T)}^+, \lambda_{(\delta,T)}^-)$  of B is a BAF ideal of  $\mathcal{K}$  for every $(\gamma, \delta) \in [0, u] \times [i, 0]$ , then  $B = (\lambda^+, \lambda^-)$  is a BAF ideal of  $\mathcal{K}$ . Proof:

i. Bipolar fuzzy  $(\gamma, \delta)$ -translation  $B_{(\gamma,\delta)}^T$  of B is a BAF ideal of  $\mathcal{K}$ , implies  $\lambda^+(e) + \gamma \leq \lambda^+(x) + \gamma$  and  $\lambda^-(e) + \delta \geq \lambda^-(x) + \delta$ .

Because of  $\gamma \in [0, u]$  and  $u = 1 - \sup\{\lambda^+(x) | x \in \mathcal{K}\}$ , then  $\lambda^+(e) \le \lambda^+(x)$ 

Because of  $\delta \in [i, 0]$  and  $i = -1 - inf\{\lambda^{-}(x) | x \in \mathcal{K}\}$ , then  $\lambda^{-}(e) \ge \lambda^{-}(x)$ 

ii. Bipolar fuzzy  $(\gamma, \delta)$ -translation  $B_{(\gamma,\delta)}^T$  of *B* is a BAF ideal of  $\mathcal{K}$ , it implies

$$\lambda^{+}(x) + \gamma \leq \max\{\lambda^{+}(x \odot y) + \gamma, \lambda^{+}(y \odot (y \odot x)) + \gamma\}$$
  
$$\lambda^{+}(x) + \gamma \leq \max\{\lambda^{+}(x \odot y), \lambda^{+}(y \odot (y \odot x))\} + \gamma$$
  
$$\lambda^{+}(x) \leq \max\{\lambda^{+}(x \odot y), \lambda^{+}(y \odot (y \odot x))\}$$

and

$$\lambda^{-}(x) + \delta \ge \min\{\lambda^{-}(x \odot y) + \delta, \lambda^{-}(y \odot (y \odot x)) + \delta\}$$
$$\lambda^{-}(x) + \delta \ge \min\{\lambda^{-}(x \odot y), \lambda^{-}(y \odot (y \odot x))\} + \delta$$
$$\lambda^{-}(x) \ge \min\{\lambda^{-}(x \odot y), \lambda^{-}(y \odot (y \odot x))\}$$

 $B = (\lambda^+, \lambda^-)$ BAF ideal of  $\mathcal{K}$ .

## **Definition 3.5 (Bipolar Fuzzy Extention)**

Let  $B_1 = (\lambda^+, \lambda^-)$  and  $B_2 = (\mu^+, \mu^-)$  is bipolar fuzzy sets of *K*-algebra  $\mathcal{K}$ . If  $\lambda^+(x) \le \mu^+(x)$  and  $\lambda^-(x) \ge \mu^-(x)$  for every  $x \in \mathcal{K}$ , then  $B_2$  is called bipolar fuzzy extention of  $B_1$ .

### Definition 3.6 (Bipolar Anti Fuzzy Ideal Extention)

Let  $B_1 = (\lambda^+, \lambda^-)$  and  $B_2 = (\mu^+, \mu^-)$  is bipolar fuzzy sets of *K*-algebra  $\mathcal{K}$ .  $B_2$  is called BAF ideal extention of  $B_1$  if the following axioms are fulfilled.

- i.  $B_2$  is a bipolar fuzzy extention of  $B_1$
- ii. If  $B_2$  is a BAF ideal of  $\mathcal{K}$ , then  $B_1$  BAF ideal of  $\mathcal{K}$ .

Based on the definition above,  $\lambda^+_{(\gamma,T)} \ge \lambda^+(x)$  and  $\lambda^-_{(\delta,T)} \le \lambda^-(x)$  for every  $x \in \mathcal{K}$ , we obtained several theorems as follow.

2019

## Theorem 3.7

If  $B = (\lambda^+, \lambda^-)$  is a BAF ideal of *K*-algebra  $\mathcal{K}$ , then bipolar fuzzy  $(\gamma, \delta)$ -translation  $B_{(\gamma,\delta)}^T = (\lambda_{(\gamma,T)}^+, \lambda_{(\delta,T)}^-)$  of *B* is a BAF ideal extention of *B* for every $(\gamma, \delta) \in [0, u] \times [i, 0]$ . Proof:

i.  $B_{(\gamma,\delta)}^T$  bipolar fuzzy extention of *B*.

ii. Suppose 
$$B_{(\chi \delta)}^T$$
 is a BAF ideal of  $\mathcal{K}$ , then B is not a BAF ideal of  $\mathcal{K}$ .

•  $\lambda^{+}(e) + \gamma \leq \lambda^{+}(x) + \gamma$  and  $\lambda^{-}(e) + \delta \geq \lambda^{-}(x) + \delta$   $\lambda^{+}(e) \leq \lambda^{+}(x)$   $\lambda^{-}(e) \geq \lambda^{-}(x)$ •  $\lambda^{+}(x) + \gamma \leq \max\{\lambda^{+}(x \odot y) + \gamma, \lambda^{+}(y \odot (y \odot x)) + \gamma\}$   $\lambda^{+}(x) + \gamma \leq \max\{\lambda^{+}(x \odot y), \lambda^{+}(y \odot (y \odot x))\} + \gamma$  $\lambda^{+}(x) \leq \max\{\lambda^{+}(x \odot y), \lambda^{+}(y \odot (y \odot x))\}$ 

and

$$\begin{aligned} \lambda^{-}(x) + \delta &\geq \min\{\lambda^{-}(x \odot y) + \delta, \lambda^{-}(y \odot (y \odot x)) + \delta\} \\ \lambda^{-}(x) + \delta &\geq \min\{\lambda^{-}(x \odot y), \lambda^{-}(y \odot (y \odot x))\} + \delta \\ \lambda^{-}(x) &\geq \min\{\lambda^{-}(x \odot y), \lambda^{-}(y \odot (y \odot x))\} \end{aligned}$$

This is contrary with the statement above, it must be *B* BAF ideal of  $\mathcal{K}$ .  $B_{(\gamma,\delta)}^T$  is a BAF ideal extention of *B*.

## Example 3.8

According to example 3.3,  $B_{(\gamma,\delta)}^T$  is a BAF ideal of  $\mathcal{K}$  with  $\gamma = 0.5$  and  $\delta = -0.3$ , then  $B_{(\gamma,\delta)}^T$  BAF ideal extension of B.

## **Definition 3.9**

Let  $B = (\mu^+, \mu^-)$  is a bipolar fuzzy set of *K*-algebra  $\mathcal{K}, (\alpha, \beta) \in [-1,0] \times [0,1], \gamma \in [0,u], \delta \in [i,0]$ , then

- $\tilde{B}^{+T}_{(\beta,\gamma)} = \{x \in \mathcal{K} | \mu^+(x) \le \beta \gamma\}$
- $\tilde{B}^{-T}_{(\alpha,\delta)} = \{x \in \mathcal{K} | \mu^{-}(x) \ge \alpha \delta\}$
- $\tilde{B}^T_{((\alpha,\beta),(\gamma,\delta))} = \{x \in \mathcal{K} | \mu^-(x) \ge \alpha \gamma \, dan \, \mu^+(x) \le \beta \delta\}$

## Theorem 3.10

If  $B = (\mu^+, \mu^-)$  is a BAF ideal of *K*-algebra  $\mathcal{K}$ , then  $\tilde{B}^+_{(\beta,\gamma)}^T$  and  $\tilde{B}^-_{(\alpha,\delta)}^T$  ideal of  $\mathcal{K}$  for every  $\alpha \in Im(\mu^-)$  and  $\beta \in Im(\mu^+)$  with  $\beta \ge \gamma$  and  $\alpha \le \delta$ . Proof:

i. Suppose  $x \in \tilde{B}^{+T}_{(\beta,\gamma)} \to \mu^{+}(x) \le \beta - \gamma$ . Because of  $\mu^{+}(e) \le \mu^{+}(x)$  and  $\mu^{+}(x) \le \beta - \gamma$  then  $\mu^{+}(e) \le \beta - \gamma$ . It is clear that  $e \in \tilde{B}^{+T}_{-(\beta,\gamma)}$ 

Suppose  $x \in \tilde{B}^{-T}_{(\alpha,\delta)} \to \mu^{-}(x) \ge \alpha - \delta$ . Because of  $\mu^{-}(e) \ge \mu^{-}(x)$  and  $\mu^{-}(x) \ge \alpha - \delta$  then  $\mu^{-}(e) \ge \alpha - \delta$ . It is clear that  $e \in \tilde{B}^{-T}_{(\alpha,\delta)}$ .

ii. Suppose  $(x \odot y)$  and  $(y \odot (y \odot x)) \in \tilde{B}^{T}_{(\beta,\gamma)}$  implies  $\mu^{+}(x \odot y) \leq \beta - \gamma$  and  $\mu^{+}(y \odot (y \odot x)) \leq \beta - \gamma$ .

$$ax\{\mu^{+}(x \odot y), \mu^{+}(y \odot (y \odot x))\} \le max\{\beta - \gamma, \beta - \gamma\}$$
$$max\{\mu^{+}(x \odot y), \mu^{+}(y \odot (y \odot x))\} \le \beta - \gamma$$

Because of  $\mu^+(x) \le max\{\mu^+(x \odot y), \mu^+(y \odot (y \odot x))\}$  then  $\mu^+(x) \le \beta - \gamma$ . It is clear that  $x \in \tilde{B}^+_{(\beta,\gamma)}^T$ . In the same way for  $\tilde{B}^{-T}_{(\alpha,\delta)}$ , we can obtained  $x \in \tilde{B}^{-T}_{(\alpha,\delta)}$ .  $\tilde{B}^+_{(\beta,\gamma)}^T$  dan  $\tilde{B}^{-T}_{(\alpha,\delta)}$  ideal of  $\mathcal{K}$ .

## Corollary 3.11

If  $B = (\mu^+, \mu^-)$  is a BAF ideal of *K*-algebra  $\mathcal{K}$ , then  $\tilde{B}^T_{((\alpha,\beta),(\gamma,\delta))}$  ideal of  $\mathcal{K}$  for every $(\alpha, \beta) \in [-1,0] \times [0,1]$  and  $(\gamma, \delta) \in [0, u] \times [i, 0]$ .

Proof;

i. *B* is a BAF ideal of  $\mathcal{K}$ , implies  $\mu^+(e) \le \mu^+(x)$  and  $\mu^-(e) \ge \mu^-(x)$ . Suppose  $x \in \tilde{B}^T_{((\alpha,\beta),(\gamma,\delta))}$  implies  $\mu^+(x) \le \beta - \delta$  and  $\mu^-(x) \ge \alpha - \gamma$ . Because of  $\mu^+(e) \le \mu^+(x)$  and  $\mu^-(e) \ge \mu^-(x)$  then

 $\mu^{+}(e) \leq \mu^{+}(x) \leq \beta - \delta \rightarrow \mu^{+}(e) \leq \beta - \delta$  $\mu^{-}(e) \geq \mu^{-}(x) \geq \alpha - \gamma \rightarrow \mu^{-}(e) \geq \alpha - \gamma$ 

It is clear that  $e \in \tilde{B}^T_{((\alpha,\beta),(\gamma,\delta))}$ .

ii. Suppose  $(x \odot y)$  and  $(y \odot (y \odot x)) \in \tilde{B}^T_{((\alpha,\beta),(\gamma,\delta))}$  implies  $\mu^+(x \odot y) \le \beta - \delta$  and  $\mu^+(y \odot (y \odot x)) \le \beta - \delta$  $max\{\mu^+(x \odot y), \mu^+(y \odot (y \odot x))\} \le \beta - \delta$  $\mu^{-}(x \odot y) \ge \alpha - \gamma$  and  $\mu^{-}(y \odot (y \odot x)) \ge \alpha - \gamma$  $min\{\mu^{-}(x \odot y), \mu^{-}(y \odot (y \odot x))\} \ge \alpha - \gamma$ Because of *B* BAF ideal of *K*-algebra  $\mathcal{K}$ , then  $\mu^+(x) \le \beta - \delta$  and  $\mu^-(x) \ge \alpha - \gamma$ It is clear that  $x \in \tilde{B}^T_{((\alpha,\beta),(\gamma,\delta))}$ .  $\tilde{B}^T_{((\alpha,\beta),(\gamma,\delta))}$  ideal of  $\mathcal{K}$ .

### Theorem 3.12

Let  $B = (\mu^+, \mu^-)$  is a bipolar fuzzy set of K-algebra  $\mathcal{K}$ . Bipolar fuzzy  $(\gamma, \delta)$ -translation of B is BAF ideal of  $\mathcal{K}$  if and only if  $\tilde{B}^{+T}_{(\beta,\gamma)}$  and  $\tilde{B}^{-T}_{(\alpha,\delta)}$  ideal of  $\mathcal{K}$  for every  $\alpha \in Im(\mu^{-}), \beta \in Im(\mu^{+})$ , and  $(\gamma, \delta) \in [0, u] \times [i, 0]$ with $\alpha < \delta$  and  $\beta > \gamma$ . Proof:

Let  $x \in \tilde{B}^{T}_{(\beta,\gamma)} \to \mu^{+}(x) \leq \beta - \gamma$ . Because of  $B^{T}_{(\gamma,\delta)}$  BAF ideal of  $\mathcal{K}$ , then  $\mu^{+}(e) + \gamma \leq \mu^{+}(x) + \gamma$ . i. Because  $\gamma \in [0, u]$  we obtain  $\mu^+(e) \leq \mu^+(x)$ . So  $\mu^+(e) \leq \mu^+(x) \leq \beta - \gamma$ . Hence  $e \in \tilde{B}^+_{(\beta, \gamma)}^T$ .

In the same way for  $\tilde{B}^{-T}_{(\alpha,\delta)}$ , we obtain  $\mu^{-}(e) \ge \mu^{-}(x) \ge \alpha - \delta$ . Hence  $e \in \tilde{B}^{-T}_{(\alpha,\delta)}$ . ii. Let  $(x \odot y), (y \odot (y \odot x)) \in \tilde{B}^{+T}_{(\beta,\gamma)} \to \mu^+(x \odot y) \le \beta - \gamma$  and  $\mu^+(y \odot (y \odot x)) \le \beta - \gamma$ .  $B_{(\gamma,\delta)}^T$ BAF ideal of  $\mathcal{K}$ , implies

 $\mu^{+}(x) \leq \max\{\mu^{+}(x \odot y), \mu^{+}(y \odot (y \odot x))\} \leq \beta - \gamma$ Hence  $x \in \tilde{B}^{+}_{(\beta,\gamma)}^{T}$ . In the same way for  $\tilde{B}^{-}_{(\alpha,\delta)}^{T}$ , we obtain  $x \in \tilde{B}^{-}_{(\alpha,\delta)}^{T}$ . Hence  $\tilde{B}^{+}_{(\beta,\gamma)}^{T}$  and  $\tilde{B}^{-}_{(\alpha,\delta)}^{T}$  ideal of  $\mathcal{K}$ . Conversely,

i. Let  $x \in B^T_{(\gamma,\delta)} \to \mu^+(x) + \gamma$  and  $\mu^-(x) + \delta$ .  $\tilde{B}^{+T}_{(\beta,\gamma)}$  ideal of  $\mathcal{K}$ , implies for every  $x \in \tilde{B}^{+T}_{(\beta,\gamma)}$  there is e so  $\mu^+(e) \leq \beta - \gamma$  and  $\mu^+(x) \leq \beta - \gamma$ , can be written as  $\mu^+(e) + \gamma \leq \beta$  and  $\mu^+(x) + \gamma \leq \beta$ . Suppose  $\mu^+(e) + \gamma > \mu^+(x) + \gamma$  and  $\mu^+(x) + \gamma = \beta$ , implies  $\mu^+(e) + \gamma > \beta$ . It is contrary to the statement  $\mu^+(e) + \gamma \leq \beta$ . It must be  $\mu^+(e) + \gamma \leq \mu^+(x) + \gamma$ .

In the same way for  $\tilde{B}^{-T}_{(\alpha,\delta)}$ , we obtain  $\mu^{-}(e) + \delta \ge \mu^{-}(x) + \delta$ .

ii. Let $(x \odot y), (y \odot (y \odot x)) \in B^T_{(y,\delta)}$  implies

 $\mu^+ (v$ 

$$\begin{aligned} & +(x \odot y) + \gamma & & \mu^{-}(x \odot y) + \delta \\ & \odot (y \odot x) \end{pmatrix} + \gamma & & \mu^{-}(y \odot (y \odot x)) + \delta \end{aligned}$$

 $\tilde{B}^{+T}_{(\beta,\gamma)}$  ideal of  $\mathcal{K}$ , then

$$\mu^+(x \odot y) \le \beta - \gamma \\ \mu^+(y \odot (y \odot x)) \le \beta - \gamma \\ \right\} \to \mu^+(x) \le \beta - \gamma$$

or can be written as

$$\mu^{+}(x \odot y) + \gamma \leq \beta \\ \mu^{+}(y \odot (y \odot x)) + \gamma \leq \beta \\ \right\} \rightarrow \mu^{+}(x) + \gamma \leq \beta$$

It can be concluded by  $max\{\mu^+(x \odot y) + \gamma, \mu^+(y \odot (y \odot x)) + \gamma\} \le \beta$ . Suppose  $\mu^+(x) + \gamma > max\{\mu^+(x \odot y) + \gamma, \mu^+(y \odot (y \odot x)) + \gamma\}$  and  $max\{\mu^+(x \odot y) + \gamma, \mu^+(y \odot (y \odot x)) + \gamma\} = \beta, \text{ so we obtain } \mu^+(x) + \gamma > \beta.$ It is contrary to the statement  $\mu^+(x) + \gamma \leq \beta$ . It must be  $\mu^+(x) + \gamma \le \max\{\mu^+(x \odot y) + \gamma, \mu^+(y \odot (y \odot x)) + \gamma\}.$ In the same way for  $\tilde{B}^{-T}_{(\alpha,\delta)}$ , we obtain  $\mu^{-}(x) + \delta \ge \min\{\mu^{-}(x \odot y) + \delta, \mu^{-}(y \odot (y \odot x)) + \delta\}$ .  $B_{(\nu,\delta)}^T$ BAF ideal of  $\mathcal{K}$ .

#### **Corollary 3.13**

Let  $B = (\mu^+, \mu^-)$  is a bipolar fuzzy set of *K*-algebrar  $\mathcal{K}$ . Bipolar fuzzy  $(\gamma, \delta)$ -translation of *B* is BAF ideal of  $\mathcal{K}$ if and only if  $\tilde{B}^{T}_{((\alpha,\beta),(\gamma,\delta))}$  ideal of  $\mathcal{K}$  for every  $\alpha \in Im(\mu^{-}), \beta \in Im(\mu^{+})$ , and  $(\gamma, \delta) \in [0, u] \times [i, 0]$  with  $\alpha < \delta$ and  $\beta > \gamma$ . Proof:

www.ajer.org

2019

Let  $x \in \tilde{B}^{T}_{((\alpha,\beta),(\gamma,\delta))} \to \mu^{+}(x) \leq \beta - \delta$  and  $\mu^{-}(x) \geq \alpha - \gamma$ .  $B^{T}_{(\gamma,\delta)}$  BAF ideal of  $\mathcal{K}$ , implies i.  $\mu^+(e) \le \mu^+(x) \le \beta - \delta$  and  $\mu^-(e) \ge \mu^-(x) \ge \alpha - \gamma$ .  $e \in \tilde{B}^{T}_{((\alpha,\beta),(\gamma,\delta))}.$ Let  $(x \odot y), (y \odot (y \odot x)) \in \tilde{B}^{T}_{((\alpha,\beta),(\gamma,\delta))}$ , implies ii.  $\mu^{+}(x \odot y) \leq \beta - \delta$  $\mu^{+}(y \odot (y \odot x)) \leq \beta - \delta$  $\mu^{-}(x \odot y) \ge \alpha - \gamma$  $\mu^{-}(y \odot (y \odot x)) \ge \alpha - \gamma$  $B_{(\gamma,\delta)}^T$  BAF ideal of  $\mathcal{K}$ , then  $\mu^+(x) \le \max\{\mu^+(x \odot y), \mu^+(y \odot (y \odot x))\} \le \beta - \delta$  $\mu^{-}(x) \geq \min\{\mu^{-}(x \odot y), \mu^{-}(y \odot (y \odot x))\} \geq \alpha - \gamma$  $x \in \tilde{B}^{T}_{((\alpha,\beta),(\gamma,\delta))}.$ It can be concluded by  $\tilde{B}^{T}_{((\alpha,\beta),(\gamma,\delta))}$  ideal of  $\mathcal{K}$ . Conversely, i.  $\tilde{B}^{T}_{((\alpha,\beta),(\gamma,\delta))}$  ideal of  $\mathcal{K}$ , implies  $\mu^{+}(e) \leq \beta - \delta \qquad \mu^{+}(x) \leq \beta - \delta$   $\mu^{-}(e) \geq \alpha - \gamma \qquad \text{and} \qquad \mu^{+}(x) \geq \beta - \delta$ Suppose  $\mu^{+}(e) > \mu^{+}(x)$  and  $\mu^{+}(x) = \beta - \delta$  then  $\mu^{+}(e) > \beta - \delta$ . It is contrary with  $\mu^{+}(e) \leq \beta - \delta$ . It must be  $\mu^+(e) \le \mu^+(x) \le \beta - \delta$ . Hence  $\mu^+(e) + \gamma \le \mu^+(x) + \gamma \le \beta - \delta + \gamma$ . It can be conclude  $\mu^+(e) + \gamma \le \mu^+(x) + \gamma.$ In the same way we obtain  $\mu^{-}(e) + \delta \ge \mu^{-}(x) + \delta$ .  $B^{T}_{((\alpha,\beta),(\gamma,\delta))}$  ideal of  $\mathcal{K}$ , implies ii.  $\begin{array}{c} \mu^+(x \odot y) \leq \beta - \delta \\ \mu^+(y \odot (y \odot x)) \leq \beta - \delta \end{array} \right\} \rightarrow \mu^+(x) \leq \beta - \delta$ Suppose  $\mu^+(x) > \max\{\mu^+(x \odot y), \mu^+(y \odot (y \odot x))\}$  and  $\max\{\mu^+(x \odot y), \mu^+(y \odot (y \odot x))\} = \beta - \delta$ , we obtain  $\mu^+(x) > \beta - \delta$ . It is contrary with  $\mu^+(x) \leq \beta - \delta$ . It must be  $\mu^+(x) \le \max\{\mu^+(x \odot y), \mu^+(y \odot (y \odot x))\}$ So  $\mu^+(x) + \gamma \le \max\{\mu^+(x \odot y), \mu^+(y \odot (y \odot x))\} + \gamma$  $\mu^+(x) + \gamma \le \max\{\mu^+(x \odot y) + \gamma, \mu^+(y \odot (y \odot x)) + \gamma\}$  $\mu^{-}(y \odot (y \odot x)) \ge \alpha - \gamma \\ \mu^{-}(y \odot (y \odot x)) \ge \alpha - \gamma \\ \mu^{+}(x) \ge \alpha - \gamma$ In the same way, we obtain  $\mu^{-}(x) + \delta \ge \min\{\mu^{-}(x \odot y), \mu^{-}(y \odot (y \odot x))\} + \delta$  $\mu^{-}(x) + \delta \ge \min\{\mu^{-}(x \odot y) + \delta, \mu^{-}(y \odot (y \odot x)) + \delta\}$ 

 $B_{(\nu,\delta)}^T$  BAF ideal of  $\mathcal{K}$ .

## Theorem 3.14

Let  $B = (\mu^+, \mu^-)$  is a BAF ideal of *K*-algebra  $\mathcal{K}$ ,  $(\gamma, \delta) \in [0, u] \times [i, 0]$  and  $(\gamma', \delta') \in [0, u] \times [i, 0]$ . If  $(\gamma, \delta) \ge (\gamma', \delta')$ , then bipolar fuzzy  $(\gamma, \delta)$ -translation  $B^T_{(\gamma, \delta)}$  of *B* is a BAF ideal extention of bipolar fuzzy  $(\gamma', \delta')$ - translation  $B^T_{(\gamma', \delta')}$  of *B*.

Proof: i.

 $(\gamma, \delta) \ge (\gamma', \delta')$  implies

$$\mu^{+}(x) + \gamma' \le \mu^{+}(x) + \gamma$$
$$\mu^{-}(x) + \delta' \ge \mu^{-}(x) + \delta$$

 $B_{(\gamma,\delta)}^T$  bipolar fuzzy extention of  $B_{(\gamma',\delta')}^T$ .

ii. Suppose  $B_{(\gamma,\delta)}^T$  BAF ideal of  $\mathcal{K}$ , then  $B_{(\gamma,\delta')}^T$  is not BAF ideal of  $\mathcal{K}$ .

• Because of  $(\gamma, \delta) \ge (\gamma', \delta')$ , it implies

$$\mu^+(e) + \gamma' \leq \mu^+(e) + \gamma \\ \mu^+(x) + \gamma' \leq \mu^+(x) + \gamma \\ \end{pmatrix} \rightarrow \mu^+(e) + \gamma' \leq \mu^+(x) + \gamma'$$

and

$$\mu^{-}(e) + \delta' \ge \mu^{-}(e) + \delta$$
  

$$\mu^{-}(x) + \delta' \ge \mu^{-}(x) + \delta \rightarrow \mu^{-}(e) + \delta' \ge \mu^{-}(x) + \delta'$$
  

$$\mu^{+}(x) + \gamma \le \max\{\mu^{+}(x \odot \gamma) + \gamma, \mu^{+}(\gamma \odot (\gamma \odot \chi)) + \gamma\}$$

 $\begin{aligned} \mu^+(x) + \gamma &\leq \max\{\mu^+(x \odot y), \mu^+(y \odot (y \odot x))\} + \gamma \\ \mu^+(x) &\leq \max\{\mu^+(x \odot y), \mu^+(y \odot (y \odot x))\} \\ \mu^+(x) + \gamma' &\leq \max\{\mu^+(x \odot y), \mu^+(y \odot (y \odot x))\} + \gamma' \\ \mu^+(x) + \gamma' &\leq \max\{\mu^+(x \odot y) + \gamma', \mu^+(y \odot (y \odot x))\} + \gamma' \\ and \\ \mu^-(x) + \delta &\geq \min\{\mu^-(x \odot y) + \delta, \mu^-(y \odot (y \odot x))\} + \delta \\ \mu^-(x) + \delta &\geq \min\{\mu^-(x \odot y), \mu^-(y \odot (y \odot x))\} + \delta \\ \mu^-(x) &\geq \min\{\mu^-(x \odot y), \mu^-(y \odot (y \odot x))\} \\ \mu^-(x) + \delta' &\geq \min\{\mu^-(x \odot y), \mu^-(y \odot (y \odot x))\} \\ \mu^-(x) + \delta' &\geq \min\{\mu^-(x \odot y) + \delta', \mu^-(y \odot (y \odot x))\} + \delta' \\ \mu^-(x) + \delta' &\geq \min\{\mu^-(x \odot y) + \delta', \mu^-(y \odot (y \odot x))\} + \delta' \\ \end{bmatrix} \\ It is contrary with the statement above, it must be <math>B_{(y,\delta)}^T BAF \text{ ideal of } \mathcal{K}. \end{aligned}$ 

It can be conclude by  $B_{(\gamma,\delta)}^T$  BAF ideal extention of  $B_{(\gamma,\delta)}^T$ .

## Theorem 3.15

Let  $B = (\mu^+, \mu^-)$  is a BAF ideal of *K*-algebra  $\mathcal{K}$  and  $(\gamma, \delta) \in [0, u] \times [i, 0]$ . For every BAF ideal extention  $B' = (v^+, v^-)$  of bipolar fuzzy  $(\gamma, \delta)$ -translation  $B^T_{(\gamma, \delta)}$ , there is  $(\gamma', \delta') \in [0, u] \times [i, 0]$  so that  $(\gamma, \delta) \leq (\gamma', \delta')$  and B' BAF ideal extention of bipolar fuzzy  $(\gamma, \delta)$ -translation  $B^T_{(\gamma, \delta)}$ .

Proof:

i. Let  $(\gamma', \delta') \in [0, u] \times [i, 0]$  that implies  $(\gamma, \delta) \le (\gamma', \delta')$ .  $\mu^+(x) + \gamma \le \mu^+(x) + \gamma'$   $\mu^-(x) + \delta \ge \mu^-(x) + \delta'$ 

B' bipolar fuzzy extention of  $B_{(\gamma,\delta)}^T$ .

ii. Suppose B' BAF ideal of  $\mathcal{K}$ , then  $B_{(\gamma,\delta)}^T$  is not BAF ideal of  $\mathcal{K}$ .

 $\mu^+(e)+\gamma'\leq\mu^+(x)+\gamma'$ and  $\mu^{-}(e) + \delta' \ge \mu^{-}(x) + \delta'$  $\mu^+(e) \le \mu^+(x)$  $\mu^{-}(e) \geq \mu^{-}(x)$  $\mu^+(e) + \gamma \le \mu^+(x) + \gamma$  $\mu^{-}(e) + \delta \ge \mu^{-}(x) + \delta$  $\mu^+(x) + \gamma' \le \max\{\mu^+(x \odot y) + \gamma', \mu^+(y \odot (y \odot x)) + \gamma'\}$  $\mu^+(x) + \gamma' \le \max\{\mu^+(x \odot y), \mu^+(y \odot (y \odot x))\} + \gamma'$  $\mu^+(x) \le \max\{\mu^+(x \odot y), \mu^+(y \odot (y \odot x))\}$  $\mu^+(x) + \gamma \le \max\{\mu^+(x \odot y), \mu^+(y \odot (y \odot x))\} + \gamma$  $\mu^+(x) + \gamma \le \max\{\mu^+(x \odot y) + \gamma, \mu^+(y \odot (y \odot x)) + \gamma\}$ and  $\mu^{-}(x) + \delta' \ge \min\{\mu^{-}(x \odot y) + \delta', \mu^{-}(y \odot (y \odot x)) + \delta'\}$  $\mu^{-}(x) + \delta' \ge \min\{\mu^{-}(x \odot y), \mu^{-}(y \odot (y \odot x))\} + \delta'$  $\mu^{-}(x) \geq \min\{\mu^{-}(x \odot y), \mu^{-}(y \odot (y \odot x))\}$  $\mu^{-}(x) + \delta \ge \min\{\mu^{-}(x \odot y), \mu^{-}(y \odot (y \odot x))\} + \delta$  $\mu^{-}(x) + \delta \ge \min\{\mu^{-}(x \odot y) + \delta, \mu^{-}(y \odot (y \odot x)) + \delta\}$ It is contrary with the statement above, it must be  $B_{(\gamma,\delta)}^T$  BAF ideal of  $\mathcal{K}$ .

B' is a BAF ideal extention of  $B_{(\gamma,\delta)}^T$ .

## **Definition 3.16 (Bipolar Fuzzy Multiplication)**

Let  $B = (\lambda^+, \lambda^-)$  is a bipolar fuzzy set of  $\mathcal{K}$  and  $\rho, \sigma \in [0,1]$ . Bipolar fuzzy set  $B^m_{(\rho,\sigma)} = (\lambda_{\rho}^{+m}, \lambda_{\sigma}^{-m})$  is called bipolar fuzzy  $(\rho, \sigma)$ - multiplication of B with

$$\lambda_{\rho}^{+m}: \mathcal{K} \to [0,1], x \to \lambda^{+}(x)\rho$$
$$\lambda_{\sigma}^{-m}: \mathcal{K} \to [-1,0], x \to \lambda^{-}(x)\rho$$

For every BAF ideal of B, Bipolar fuzzy (0,0)- multiplication  $B_{(0,0)}^m$  is a BAF ideal of  $\mathcal{K}$ .

#### Theorem 3.17

If  $B = (\lambda^+, \lambda^-)$  is a BAF ideal of *K*-algebra  $\mathcal{K}$ , then bipolar fuzzy  $(\rho, \sigma)$ - multiplication  $B^m_{(\rho,\sigma)}$  of *B* is BAF ideal of  $\mathcal{K}$ .

Proof:

- i.  $\rho, \sigma \in [0,1]$  implies  $\lambda^+(e)\rho \leq \lambda^+(x)\rho$  and  $\lambda^-(e)\sigma \geq \lambda^-(x)\sigma$ .
- ii. *B* BAF ideal of  $\mathcal{K}$ , implies

 $\lambda^+(x) \le \max\{\lambda^+(x \odot y), \lambda^+(y \odot (y \odot x))\}\$ 

$$\begin{split} \lambda^{+}(x)\rho &\leq \max\{\lambda^{+}(x \odot y), \lambda^{+}(y \odot (y \odot x))\}\rho\\ \lambda^{+}(x)\rho &\leq \max\{\lambda^{+}(x \odot y)\rho, \lambda^{+}(y \odot (y \odot x))\rho\} \end{split}$$

and

$$\begin{split} \lambda^{-}(x) &\geq \min\{\lambda^{-}(x \odot y), \lambda^{-}(y \odot (y \odot x))\}\\ \lambda^{-}(x)\sigma &\geq \min\{\lambda^{-}(x \odot y), \lambda^{-}(y \odot (y \odot x))\}\sigma\\ \lambda^{-}(x)\sigma &\geq \min\{\lambda^{-}(x \odot y)\sigma, \lambda^{-}(y \odot (y \odot x))\sigma\} \end{split}$$

It can be conclude  $B^m_{(\rho,\sigma)}$  of *B* is BAF ideal of  $\mathcal{K}$ .

#### Theorem 3.18

Let  $B = (\lambda^+, \lambda^-)$  is a bipolar fuzzy set of *K*-algebra  $\mathcal{K}$ . Bipolar fuzzy  $(\rho, \sigma)$ - multiplication  $B^m_{(\rho,\sigma)}$  of *B* is BAF ideal of  $\mathcal{K}$  if and only if *B* BAF ideal of  $\mathcal{K}$  for every  $\rho, \sigma \in [0,1]$ .

#### Proof:

i.  $B^m_{(\rho,\sigma)}$  of *B* is BAF ideal of  $\mathcal{K}$ , implies  $\lambda^+(e)\rho \leq \lambda^+(x)\rho$  and  $\lambda^-(e)\sigma \geq \lambda^-(x)\sigma$ . Because of  $\rho, \sigma \in [0,1]$  we obtain  $\lambda^+(e) \leq \lambda^+(x)$  and  $\lambda^-(e) \geq \lambda^-(x)$ .

ii.  $B^m_{(\rho,\sigma)}$  BAF ideal of  $\mathcal{K}$ , implies

$$\begin{aligned} \lambda^{+}(x)\rho &\leq \max\{\lambda^{+}(x \odot y)\rho, \lambda^{+}(y \odot (y \odot x))\rho\}\\ \lambda^{+}(x)\rho &\leq \max\{\lambda^{+}(x \odot y), \lambda^{+}(y \odot (y \odot x))\}\rho\\ \lambda^{+}(x) &\leq \max\{\lambda^{+}(x \odot y), \lambda^{+}(y \odot (y \odot x))\}\end{aligned}$$

and

$$\lambda^{-}(x)\sigma \ge \min\{\lambda^{-}(x \odot y)\sigma, \lambda^{-}(y \odot (y \odot x))\sigma\}$$
$$\lambda^{-}(x)\sigma \ge \min\{\lambda^{-}(x \odot y), \lambda^{-}(y \odot (y \odot x))\}\sigma$$
$$\lambda^{-}(x) \ge \min\{\lambda^{-}(x \odot y), \lambda^{-}(y \odot (y \odot x))\}$$

B BAF ideal of  $\mathcal{K}$ . Conversely, according to theorem 3.15 it is clear that  $B^m_{(\rho,\sigma)}$  of B BAF ideal of  $\mathcal{K}$ .

## Example 3.19

Based on the example 3.3  $B = (\lambda^+, \lambda^-)$  defined by

$$\lambda^{+}(x) = \begin{cases} 0.03 & , \quad x = e \\ 0.4 & , \quad x \neq e \end{cases} \text{ and } \lambda^{-}(x) = \begin{cases} -0.2 & , \quad x = e \\ -0.35 & , \quad x \neq e \end{cases}$$
  
BAF ideal of *K*-algebra  $\mathcal{K} = (G, \circ, \odot, e)$  with  $G = \{e, a, b, x, y, z\}$ .  
If  $\rho = \sigma = 0.5$ , then  $B^{m}_{(\rho,\sigma)}$  BAF ideal of  $\mathcal{K}$ .

#### Theorem 3.20

If  $B = (\lambda^+, \lambda^-)$  is bipolar fuzzy set of *K*-algebra  $\mathcal{K}$ ,  $(\gamma, \delta) \in [0, u] \times [i, 0]$  and  $\rho, \sigma \in [0, 1]$ , for every bipolar fuzzy  $(\gamma, \delta)$ -translation  $B^T_{(\gamma, \delta)}$  of *B* is a BAF ideal extention of bipolar fuzzy  $(\rho, \sigma)$ - multiplication  $B^m_{(\rho, \sigma)}$  of *B*. *Proof*:

- i.  $\rho, \sigma \in [0,1]$ , it is clear that  $\lambda^+(x)\rho \leq \lambda^+(x) + \gamma$  and  $\lambda^-(x)\rho \geq \lambda^-(x) + \gamma$ .  $B^T_{(\gamma,\delta)}$  bipolar fuzzy extention of  $B^m_{(\rho,\sigma)}$ .
- ii. Suppose  $B_{(\gamma,\delta)}^T$  BAF ideal of  $\mathcal{K}$ , then  $B_{(\rho,\sigma)}^m$  is not BAF ideal of  $\mathcal{K}$ .

• 
$$\lambda^+(e) + \gamma \le \lambda^+(x) + \gamma$$
 and  $\lambda^-(e) + \delta \ge \lambda^-(x) + \delta$   
 $\lambda^+(e) \le \lambda^+(x)$   $\lambda^-(e) \ge \lambda^-(x)$   
 $\lambda^+(e)\rho \le \lambda^+(x)\rho$   $\lambda^-(e)\sigma \ge \lambda^-(x)\sigma$   
•  $\lambda^+(x) + \gamma \le \max\{\lambda^+(x \odot y) + \gamma, \lambda^+(y \odot (y \odot x)) + \gamma\}$   
 $\lambda^+(x) + \gamma \le \max\{\lambda^+(x \odot y), \lambda^+(y \odot (y \odot x))\}$   
 $\lambda^+(x)\rho \le \max\{\lambda^+(x \odot y), \lambda^+(y \odot (y \odot x))\}\rho$   
 $\lambda^+(x)\rho \le \max\{\lambda^+(x \odot y), \lambda^+(y \odot (y \odot x))\}\rho$   
and  
 $\lambda^-(x) + \delta \ge \min\{\lambda^-(x \odot y) + \delta, \lambda^-(y \odot (y \odot x))\} + \delta\}$   
 $\lambda^-(x) + \delta \ge \min\{\lambda^-(x \odot y), \lambda^-(y \odot (y \odot x))\} + \delta$   
 $\lambda^-(x) \ge \min\{\lambda^-(x \odot y), \lambda^-(y \odot (y \odot x))\}\sigma$   
 $\lambda^-(x)\sigma \ge \min\{\lambda^-(x \odot y), \lambda^-(y \odot (y \odot x))\}\sigma$ 

It is contrary with the statement above, it must be  $B^m_{(\rho,\sigma)}$  BAF ideal of  $\mathcal{K}$ .  $B^T_{(\gamma,\delta)}$  BAF ideal extention of  $B^m_{(\rho,\sigma)}$ .

#### **IV. CONCLUSION**

In this article, we introduced the notion of bipolar fuzzy translation, bipolar fuzzy extention, and bipolar fuzzy multiplication on bipolar anti fuzzy ideal of K-algebra. We also investigate the related properties. We hope this paper can be reference for future research about fuzzy.

#### REFERENCES

- Akram, M., Dar, K. H., Fuzzy Ideals of K-algebras, Annals of University of Craiova, Math. Comp. Sci. Ser., Volume 34, 11-20, 2007.
- [2]. Akram, M., Saeid, A. B., Shum, K. P., Meng, B. L., Bipolar Fuzzy K-algebras, International Journal of Fuzzy Systems, Volume 12, 252-258, 2010.
- [3]. Bhattacharya, P. B., Jain, S. K., Nagpaul, S. R., Basic Abstract Algebra, 2<sup>nd</sup> Edition, Cambridge University Press, 1995.
- [4]. Dar, K. H., Akram, M., On a K-algebra Built on a Group, South. Asian Bull. Math., Volume 29, 41-49, 2005.
- [5]. Dar, K. H., Akram, M., On a K-homomorphism of K-algebras, International Mathematical Forum, Volume 2:46, 2283-2293, 2007.
- [6]. Hayat, K., Mahmood, T., Cao, B. Y., On Bipolar Anti Fuzzy h-ideals in Hemi-rings, Fuzzy Informations and Engineering, Volume 9, 1-19, 2017.
- Jun, Y. B., Kim, H. S., Lee, K. J., Bipolar Fuzzy Translations in BCK/BCI-algebras, Journal of the Chungcheong Mathematical Society, Volume 22:3, 2009.
- [8]. Kandasamy, W. B. V., Smarandache Fuzzy Algebra, American Research Press, 2003.
- [9]. Ria, A., Agus, W., Noor, H., Bipolar Anti Fuzzy Ideals of K-algebras, 2018. (Submit Process)
- [10]. Zhang, W. R., Bipolar Fuzzy Sets, Computer Science Dept. College of Engineering, Lamar University, 835-840, 1998.

Ria Anggraeni" Bipolar Fuzzy Translation, Extention, and Multiplication on Bipolar Anti Fuzzy Ideals of K-algebras" American Journal of Engineering Research (AJER), vol.8, no.03, 2019, pp.69-78

www.ajer.org